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k16| 156 37.3  8/20 A 4.2 1/28 1,845.0 190.0 10/09 2.1 13.0 2,059.6
17| 14.6 36.3 7/27 A5.6 12/25 1,387.0 92.0 1/16 1.9 14.0 1,824.6
18] 15.1 344 9/10 A53 2/05 1,796.0 175.0 10/06 1.9 10.0 1,569.0
19| 155 374 8/15 A 20 1/14 1,346.0 131.0 7/15 1.9 13.0 1,947.7
20 151 35.1 8/14 A43 2/18 1,7780 80.5 9/20 2.0 11.4 1,895.9
21 154 339 7/13 A 3.7 12/22 1,787.0 88.0 10/26 2.1 12.8 1,753.8
22 15.6 35.7 9/07 A 4.0 2/07 1,810.0 120.0 9/08 2.4] 12.9] 1970.2]
23| 15.3 36 8/18 A6.2 1/31 1,401.5 110.5 10/05 2.4 15.8 2,109.9
24 15.0 359 7/17 A 5.4 12/27 15965 58.0 6/22 2.4 132 2,109.3
1A 3.4 120 1/13 A45 1/27 61.5 225 1/21 2.2] 7.3] 177.7
2 H 4.5 17.1 2/07 A 53 2/03 98.5 22.0 2/23 2.2 10.3 142.7
3H 8.2 19.3 3/30 A1.2 3/16 128.5 27.0 3/05 2.7 11.9 130.2
4A| 13.3 23.8 4/09 0.6 4/08 116.0 41.0 4/14 2.8 13.2 164.7
5| 185 27.7 5/05 8.0 5/13 140.5 355 5/03 2.7 9.9  204.7
A 6H| 200 30.3 6/20 128 6/07  221.0 58.0 6/22 2.6 13.0 144.9
24 7Rl 249 359 7/17 176 7/21 75.5 28.0 7/07 2.6 8.1  180.3
F gH| 270 337 8/13 198 8/09 92.0  33.0 8/06 2.3 7.6  293.8
9A| 24.8 34.1 9/06 16.3 9/27 150.5 38.0 9/23 2.4 119 184.1
10A4| 18.1 31.5 10/01 8.5 10/30 2855 52.5 10/03 2.3 11.7 150.6
11A| 114 22.7 11/12 1.2 11/25 145.0 545 11/06 2.0 7.6 158.8
124 5.6 18.6 12/16 A 5.4 12/27 82.0 37.0 12/30 2.0 11.6 176.8
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(2) HbHBIEAR

HAL ha, % (%41 H 1 HBUE)

4y k214 Rk 224F Rk 234E Wk 244F

wos | omeeRbe | Rt | mEmet | omems | meelt | meRE | MERE
WM\ A 10,178.0 100.0 10,178.0 100.0 10,178.0 100.0 10,178.0 100.0
H 3,528.0 34.7  3,526.0 34.6  3,524.9 34.6  3,522.3 34.6
JH 2,169.0 21.3  2,167.2 21.3  2,164.0 21.3  2,167.7 21.3
£ #Hi|  1,053.9 10.4  1,054.0 10.4  1,053.9 10.4  1,054.1 10.4
i 7 4.4 0.0 4.4 0.0 4.5 0.0 4.5 0.0
(L [ 1,001.6 9.8 1,001.3 9.8  1,003.4 9.9  1,004.4 9.9
Ji i 109.2 1.1 109.2 1.1 109.1 1.1 109.5 1.1
e FE O Hb 269.3 2.6 273.0 2.7 274.9 2.7 272.1 2.7
Z O ] 2,042.6 20.1  2,042.9 20.1  2,043.3 20.1  2,043.4 20.1
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BN 1m 24720 (K41 A 1 H BIE)
R ok | BCPTERORE | g | waste | wakose | Eakan
* = W 2 [H5HART 11 %4 38,100 37,400 37,000 36,800
G OHF £ S 2I\HHSA T HEI2439% 45,100 43,500 42,400 41,500
* = W 1\ B A A TR %3266 % 22,400 21,800 21,500 21,300
e M O T W 2\ HSAE L HPIr2829% 1 - - - -
* = W 20\ B i TR 782713 28,300 27,700 27,300 27,000
)& i AW 1\ B Hid5 HRT2827% 38,300 37,600 - -
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A7 1 Y7201 (BAE7H 1 HBE)
EERORAOR | G EDTEROE i | epkante | kst | e
* £ W 2|\ B iR FE32213%7 25,700 24,600 23,400 22,700
* = W S| T E2365% 12 19,000 18,600 18,200 17,900
* = W 4|#E R T RAEH1204%F 9,300 9,100 8,900 8,800
* = W S5|BARTHH2048% 6,800 6,600 6,500 6,400
* = W 6B T H35%S5 38,900 37,800 37,300 37,000
MG OA I O £ S 4\HHESATRE F112%4 62,300 60,300 58,200 56,600
ME ZN N (A 7 A 18527 4k 242 234 225 220
T % S 2|0 TF12%4 7,600 7,400 7,300 7,300
* = W 2 b 14647 702 10,800 10,600 9,900 9,500
* = W 1|46 H 5PN 5997 144 7,900 7,700 7,500 7,400
(E8 = W 1|14 R T HIE63007% 1 9,000 8,800 8,600 8,500
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